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Learn Them By
Ax+a)x+b)=x>+x(a+b)+ ab. ™
(a+b)F=a®+ 2ab + b s
(a-b ) =a*-2ab+ b*. TohMileygiSadaaKhus
(a+b+cP=a’+b>+c*+ 2ab+ 2bc + 2ca. hi
(a+b P+ (a-b)F=2(a%+b*) Never Gham
(a+bfP—-(a—-bF=4ab or
(a—bF—(a+b)=—4ab.
Zo(a+bP=a’+b>+3ab(a+b)=a’+ 3a°b+ 3ab* + b°.

8. (a—b F = a°—b°— 3ab (a —b )= a°-3a*bh + 3ab*—b°.

9.(a—- b)a+b)=a*—- b

10.(a—=b)(a+ b )(a® + b* )= a* — b*.

11.a° + b° = (a + b ) a®— ab + b* ).

12.a°— b° = (a— b )(a® + ab + b* ).

13.a° + b + ¢ — 3abc = (a+ b +c )(a® + b* + ¢* — ab — bc — ca ).

14. CONDITIONAL IDENTITY: If a + b+ ¢ = 0, then a’ + b° + ¢’= 3abc.
15.a% + a?p* + b* = (a® + ab + b* )( a® — ab + b* ).
16.a*+a*°+1=(a*+a+1)a*—a+ 1)

17.a°+ b6 = (a* P+ (b* F = (a®* + b* ) (a? — a*b* + b?).

18. a®— b= (a’ = (b’ F=(a’ + b6°)(a’— b’)=(a+b)(a’~ab+ b*)(a—-b)/(

a’ + ab + b* ).
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ANY FACT FACING 08 18 NOT AS IMPORTANT AS OUR ATTTTUDE
TOWARDS IT. FOR THAT DETERMINES OUR SUCCESS OF FAILURE.






